1B

AE—F&N\VT 1 R AR

&z EFH F R A 5 A s fi]

1 BE TR | FhEREER B 567008

2 & N FhRESK HE 567009

3 EH #F | FAHERRER IRROE/ 56799

4 BF B | IHEREESR %E 607004

4 SERRAKH | mEeR A—=J I 637034

6 EFf ER | AEEK TAT7 514k 737090

5B 2R ZERREEE R

&z EFB R A 5 & iR Ry fid
1 KR F FhEESR oS 0| 267055
2 mER & BAT 8% FR R S AR S PN 0| 27#57
3 HE 3B | HtEESK 52 0| 34734
4 FE BN | ABER RATLyRN—F 1| 41716
5

6

KBNS 6 DBEEFE—EBEEDLD




E 3w BiSHMiams LIRE 2013

JIE 45z EFH ¥ R % 5 £ BRE
1 EH #F B 5 o R S A 247T74—7F— | 65.200%
2 SEEEAH BEEER TR T+ T| 63.533%
3 tE T2 FAl g% R S A2 I—K52 27| 60.533%
4 AT BEEER A—RAN— | 59.867%
5 & e IR ZTLyR/n—k | 59.400%
6 oE EBEX Pl IERS TAHILAA 1839k | 56.867%
F AR BABEMRE
JIE {5z EFH ¥ KR 4 E 4 e A E
Ht 35 HHEESR HE 41.5
EE xR THEEER Bl 45.7
& e FE = TATZAk 46. 3
thE T3 FAT 8% R =4 AU —KSUUTF]| 46.7
SHEEREAH BEEER ERIIWITA T 416
GE &3 BHEESK E 47.8
FEEEME EEEEREHRE
JIE 5z EF4A ¥R £ E % R i 1
EE #HF BAT 8% R =4 SRRTCH/ 0 | 46%)58
HE EFEE THEESR HE 4| 47026
thE T2 PRI E% R S A A=K TT 4 | 607009
EEEAH BEEEK A—5)L 4| 65024
EE xR FHEESK G2 12 | 63§02
= WHE G SR TAT 21k 12 64%199
X1, 2HMOBRBEES Yo THFI70HD
¥ 6 5k kv TROTEER
JIE 5z EF4A ¥R £ E % s i
1 S{E EX FAI 8% R S A VN 1560 | 64734
2 EE HF FAT 8% R S A SRRTR/ 1370 | 675044
3 HE EE FHEESK HE 1340 | 62776
4 XK $ FHEESK = 1310 | 647046
5 EE xR HHEESK Bl 1310 | 66726
6 WA FEE AlEER M= 54— 870 [ 70Fb25
XLUE RG HGHEESEFEREMBES




£ 65

B IDEERERRR

I £z EF 4 F R A 5 4% iR Ry i
1 & NI FhEESR S 0| 457055
2 05 EBE | MEPREKR Il 0| 47740
3 TR | ABER TA4T7 514k 0| 51734
4 RR BS | mEeR b RTYY 0| 557056
5 W 2 mEER A—=RBN)IN— 0| 55778
6 KiE SE | BEER A—=J 41 467060
7 HAESRERR
& {2 FRA EFA
1 AEER Fx oE WA 2@ BN WT
2 mAEER T BHE xH #SE WF U
3 | FEEhRER tME EHE e hEE mE
WEBE
I £z F R A F R
1 RARIFHERRSFAR 58
2 RARIMEGHPREFFR 50
3 BARIFESFER 30

XL E

=I5 FHRESFERBMHEES




